Linked to- your premious leaming, complete the
pollowing, questions:

. What are the, value of the underlined, digits in the
Pollowing numbenrs?

4.3
7,345
467
3,124




WALI: Use and ODDLg/
numbers to- 10,000




Introduction

. What are the walue of the underlined, digite v the
ﬁoUm\»ingzmmbﬂ\sf?

923

q, 847

8, 123

2. What are the missing numbens?

q,382 - , . .2




3. How would yow write the number
on@thousand;,thf\eehundﬁedjond/elght?

4. How would Yo saxé/the numbenr
2,04.57

5. What columns change when yow add, 10, 100 and
,000 to 2,5067



Remember
Th@valwq!l@dxgmdgp@nd&orvd&pos&hom

F.g.

TTh Thh H T s
L 2 3 0 5

Cmgmﬂwmkoflwhmwwhmgowwouldus&ﬂu&
knowledgf/lmr\ealrli}esituahon&?




Kexé/ \/ocobuw
‘Q*L

Hundr\ed/
Thousand,

D bt
Number
Place walue
Smallest

Largest
Ordered,

7N



2.

FMﬂuywﬂl}ﬂ

Match the diagram to the number.

i 00000
4500 | [ 4,005 | 4050 |
Complete the table.
Add 10 Add 100 Add 1,000
2506
7999

6,070




Fl.uw - Do td (continued)

4

3. Whabw\eth&valueo{ltheundenlmedzdug&&wﬂw(ﬁouowmg/
numbenrs’?

810
4,236

/1,996

2. Whabomth&mwsmgfnwnb@r\s?

71,126 = + +__+6




2.

Fluency - Do it ANSWERS

Match the diagram to the number.

T o0 Lo T oo Tooo T oo
4500 4005
) [ | 4050 |
Complete the table.
Add 10 Add 100 Add 1,000

2506 2 516 2, 606 3,506
?;999 8,009 8,099 8,999
5,970 5,980 6070 6,970




mepg/ Dot (continued)
ANSW_RS

3. Whabmﬂwvah&o{lth@und@hnedfduyt&wth@(ﬁouowmg
rumbers?

810 800
4,236 30

1,996 /7,000

2. Whabomth&mkssmgznwnbﬂ\s?

7,126 = 7,000 + |00 + 20+ 6



Rewsor\ing/ - Secure it
Dora has made five numbers, using the
digits 1,2, 3 and 4

She has changed each number into a
letter.

Her numbers are

aabcd
acdbc
dcaba

cdadc
bdaab

Here are three clues to work out her
nUMbers:

« The first number in her list is the
greatest number.

» The digits in the fourth number total
12

* The third number in the list is the
smallest number.



Phoblf,mjwl/\»lng/— Deepen it

Tommy says he can order the following
numbers by only looking at the first three

digits.

[ 12516 | [ 12832 |

| 12679 |

| 12538 | | 12794 |

Is he correct?
Explain your answer.

UsegwMaﬂwSa&aanMWwwplmaﬁm
E.g.

* %



me%mdpmblﬂmsolw

Dora has made five numbers, using the
digits 1,2, 3 and 4

She has changed each number into a
letter.

Her numbers are

aabcd
acdbe
dcaba

cdade
bdaab

Here are three clues to work out her
numbers:

»  The first number in her list is the
greatest number.

+  The digits in the fourth number total
12

*  The third number in the list is the
smallest number.

AWSN\/‘@PS/

44213
43123
13,424
31413
21442

Tommy says he can order the following
numbers by only looking at the first three
digits.

| 12,516 l 12,832
| 12,638 | 12,794

Is he correct?

Explain your answer.

He is incorrect
because two of the
numbers start with
twelve thousand,
five hundred
therefore you need
to look at the tens
to compare and
order.



Plenany

Cmgmwmbwbwhabﬂwewowmmmb@swmﬂdbe?

. Thisiw a3 dxg).tr\umber\

+ 1} you add the digits together, they equal 7
+ Thetens digit is 5

2. Thi&i&@S—digitnumbep

Theone&dugxtt&thesam@o&theﬂﬂwsand&dkgm
There s one 4 in the number
The terv thousand, digibs ts two- more thary the, thousands' digits



